= T [
Tl
2| |
=3
@— 0000 [ 15609 T 015 T 15665 T 156,80 1 |
w
& i ||
8 | ww { 5|3 L 15643 T 014 T 15672 1 156.86 1 |
L 2000 A L 15648 T 013 T 15678 1 156.92 1 ||
L 3000 A L 15622 T 043 T 15685 1 156.98 1 |
32,06 L 043 15686 { 156.99 ]
||
133+3915 3 L ) L \
F 4000 ] 7,3 o [1588%1 o1s | isees f 19701 R
: ws %§, 157.01 |
Eeg | 8 |
[33+48.26 g I 156.30 I 157.04 i
[ s000 1 > b 15631 1 043 1 15691 1 15704 1 |
5438 |/ .8 b 013 15693 { 157.06 ]
ohz
| 6000 4 ﬁg | 15635 + 015 + 15690 1 157.05 4 |
X |
133+67.85 3 L 15639 1 L 157,05 3 | g
L7000 { ﬁg ylp [ 15640 1 012 115692 1 15704 4 | 2
£e3 § 5,3 |
l33+76.96 g L 156.43 F 15704 1 ]
F 8000 | ol L 15644 + 012 1 15691 1 157.04 4
HE |
p|3
20,00 157.03 |
l33+9018 19645 1 013 115690 { . o .
9294 r 013 1 15689 { 157,02 !
@— 0000 L 15653 T 013 T 15695 1 157.09 1 \ -
W 3
+ \% (IS
EN L ‘% ‘
S | 1000 - 2\% | 15658 1 014 | 15704 | 15748 - ‘
r 2000 1| 38 L 15662 T 014 T 15743 1 157.27 1 |
n
2337 || $83 b 014 + 15746 { 157.30 :
25H |
&5 \
L 3000 A L 15667 T 043 T 15749 1 157.32 1 \ Y
o
@
_ | ||8
A \
L 4000 | R\g [ 15671 7 012 1 157.24 1 157.36 ‘
L 5000 { L 15676 + 043 1 157.27 1 157.39 4 |
157.41 |
54,48 I 043 +157.28 1
B 98 L ] L | N
34+56,98 156.79 157.43 }
P 6000 1 g3 L 15680 + 043 T 157.32 T 15745 7 |
g|3 (T; )
|34+68.51 | i | 15752 § NS |
N [ j30gd 1 1 [ 157: T Q
7000 7 5 \;‘& B8R 1 012 1 157.40 15753 1 | \.\
[ 3\=
LS f\9 |
ng 0Z'9L+E Wy
L eooo { 35§ L 15689 + 012 1 157.49 1 157.61 4 |
3 |
134+85,85 L 156.92 A |
L 9000 A L 15694 T 013 T 15756 1 157.69 1 |
9254 b 014 {15757 | 15771 |
@— 0000 | 15698 T 014 T 157.60 1 157.74 1 [
W |
& |
S | 1000 - L 15703 + 018 T 157.60 1 157.78 1 |
TI% |
- 2000 { BHg L 15707 + 048 T 157.64 1 157.81 1 |
gEE
3 5 |
124
L 3000 { -~ 15742 4 o016 {15769 1 15785 - [ ‘§
|5 $
b |
€% |
L 4000 | L 15716 + o046 {1 157.73 1 157.89 4 |
L 5000 { L 15721 + 014 1 15778 1 157.93 { |
& 3 L 4 L d |
35+54,83 157.23 157.95 |
L 6000 { L 15725 + o1 {1 157.85 1 157.97 4 ||
158.01 |
70,00
547217 L 15730 + ou | 157.90 | 19801 |
B5+7228 r 15731 1 [ 158.01 | l
76.40 | b 012 { 15791 { 15803 |
|} s0.00 | 157.34 + 012 + 157.93 1 15805 4§ |
L 9000 A l 15738 + 042 T 157.98 1 15810 1 ||
00.00 15815 -
O_:sswusu) 16748 £ 012 | 15803 + y | a
w ’ 5 % 15815 | N
& 3|8
o =\g ‘
S | 1000 - | 157.47 + 013 T 15807 1 158.20 1 |
L 2000 A L 15752 + 043 T 15843 1 158.25 1 “
I 3000 4 ~ L 15756 + 043 1 15847 1 158.31 4 |
i \
3510 §EE I 043 | 15820 { 15833 ‘
S8
L 4000 | = L 15761 + 014 {1 15822 1 158.36 | |
L 5000 { L 15765 + 0143 1 15830 1 158.43 | “ °
(2]
s S
L\% |
N
L 6000 { & % 15770 + o012 {15838 1 15850 |
[36+69.04 | 157.24 4 | 15856 Y |
E 000 A FI3774 3 013 iseas {2000 |
| soo0 | _ 3 | 15779 1 014 | 15850 | 15864 | |
80.40 &gg ! 014 1 15850 1 15864 I =} 571695 U
>
|\ [ /
g T
L 9000 A > %ﬂ; | 15783 T+ 013 T 15855 1 158.68 1 |
97.27 157.87 + 013 + 15858 { 15871 {
@—+ 0000 } 157.90 + 013 + 15860 T 15873 1 \
w
¥ \ 0Z°€0L+E W)Y ‘/
~
S | 1000 - L 15804 T 043 T 15869 1 158.83 1 \
53 \
4la \
FdEd
o
L 2000 { L 15847 + 043 {1 15878 1 158.92 1 \ g
[ =
Tia
e
[ 3000 o L 15831 + 014 1 15887 1 19901 o
Y L 15834 3
[37+32.00 159.03 |
L 4000 | L 15844 + 043 1 15897 1 15940 4 |\
08°0vL+€ W ‘/
L 5000 { g L 15858 + 043 1 15907 1 15919 4 \ \
5374 | 3|3 b o012 | 15910 | 15923 |
L 6000 | l 15871 + 013 1 15948 1 159.31 4 \
-
\ W
a
3\% 159.45 \ B km 3+770,00 [l
L 7000 » %‘;ﬁ fig8es T 013 pasem Yoo - - - - R i 1 S
137+71.67 A : 15047 | |\
L 8000 A L 15899 T 013 T 15945 1 159.58 1 \r
w
A
=
86.91 Eﬁ L 043 15955 { 15968 |
L 9000 1 7|2 L 15912 T 043 T 15960 1 159.73 1 \ -
3 <
(o =
3% \
@— 0000 D\ L 15926 + 013 1 15976 1 \
o ' ) ; % T 15989 ] \
160.00
0"{, '38056?21 159.34 4 013 | 15986 | |
S | 1000 15939 + 043 + 15993 1 160.00 i
16005
L 2000 { - v 15953 1 012 1 16009 1 160.21
nl3 T;L é
2 w\%
HE g\g
L 3000 { L 15966 + 013 1 16024 1 160.36 1
4000 | 043 4 16039 | 16051
F 4089 13980 T 13 ¥ 1c040 1 16053
38+40.89
F 16053
L 5000 { 3 L 15993 + 014 1 16054 1 160.68 1
I3 +56.66 £ [ 16002 1 L 16080 1
L 6000 | E\® [ 16007 1 014 | 16071 1 16085 |
s\g
L 7000 A L 16020 T 014 T 16089 1 16103 1
80.00 013 16107 | 161.20
s002 | 16034 T 003 1 16107 [ 16120 ]
L 9000 A L 16058 T 013 T 16130 1 16143 A
[ad
it
Ee3
@—+ 0000 =°§§ [ 16081 + 014 T 16152 T 16166 1
w
+ -
o 1|}
S | 1000 - B3 [ 16105 1 014 | 16176 1 16190
L 2000 | L 16128 + 0143 1 16200 1 16213 4
162.36
L 3000 { L 16152 T 043 T 16223 T jocy
39+37.86 16255
37.96 ; i 162.43
E 16170 4+ o012 {16243 y
39+38.07 L 16175 + o012 1 L 16255
a000 1 /535 16248 T 1¢259 ]
=% )
sor 4607 53§ 16278 | [___ __ __ __ i _ __ __ __ __
! L 161,94 A 3 ]
L s000 A > [ 16155 1 o013 1 16260 | 16282 §
-
W
{é's
>
L 6000 A Eﬂg % | 16223 1 013 { 16292 1 163.05 1
5o8
:EE
L 7000 A L 16246 T 013 T 16315 1 163.28 1
163.43
7638 L o012 + 16330 W \ 1
[39+79.10 F 16858 3 o012 1 16338 T 16349 1 [°U N km 3+981,40
80.00 F—f= - - e - - - - - - - - - - ==
163,51 ] \
\
3 Q \
L 9000 A "'_Eg L 16293 T 013 T 16361 T 163.73 1 ) \
n,
NS
s83 = \
g 3 \
@— 0000 A L 16317 + 043 1 16383 1 163.96 1 ) \ ©
> )
+ o § \ &
S [40+0610 §|% [ 16331 b 16410 1 N \ \
o >
S | 1000 - 8|8 [ 16341 7 014 1 16405 1 16418 '§ \
N
Q. \\
P 2000 1 pls L 16364 T 014 1 16427 1 164.41 1 ] \
HE \
g3 \
L 3000 { | 16388 + 043 1 16450 1 164.63 1
4000 | 164.86
L L 1 o013 | 16473 |
[40+4058 488 T )15 T iea7s 1 16487
4071 164.87
L 16429 == == e = = —— == = == == == == —— e e e e e e
I s000 | L 16436 + 013 1 16500 1 16513 4 V
"\
L 6000 A L\: | 16464 1 013 1 16527 T 16540 -
Nl\e
®\3
L 7000 A L 16492 T 012 T 16555 1 16567 1
L 8000 § 5|3 l 16520 + 013 o 16582 { 16594 1 :
8173 gg [ 013 716586 1 16599 00080+ U ‘/
>
c
.,
L 9000 A T\$ [ 16548 T 013 1 16608 T 16621 1
B\3
| 0000 | | o1 | 16634 | 16646 |
i 00.20 16576 T 012 1 166.35 | 166.47
X
o
S | 1000 - TB(‘?L L 166.04 + 012 1 16664 1 166.77 4
3\2
%\3
L 2000 | L 16633 + 043 + 16695 + 16707
|41+23.72 1 1 | 16719
g 16643 1 013 1 16706 | 2717
I 3000 4 I 16661 + 043 1 167.25 1 167.38 |
L 4000 | L 16689 + 012 1 16758 1 167.70 4
1 3
L s000 { 3|> L 16717 + om 1 167.91 1 16801 4
L 6000 A L 16745 T 011 T 16822 1 168.33 1
B Tttt/ - B B B B B ________st_'s_gfﬁz_tu?i____V
168.64
-411';';”03 L 16773 + 012 1 16852 T
' £ 168.64
'..‘E*
g8
L sooo { #BH L 16801 T 013 T 16883 1 16896 1
=
=
169.11
8483
L L + 043 116898 { :
41+85.27 lesi6 eote | v
L 9000 | L 16829 1 043 1 1694 T 0927 1 \
\ %
c \ R
1\%
@— 0000 A B\g [ 16857 T 013 | 16945 T 16958 | \
oy \
R \
S | wo { |, L 16885 + 043 1 16975 1 169.88 1
i \
1332 g% I 013 | 16986 | 169.99 v
? >
L 2000 | L 16914 + 0143 1 17003 1 17016 4 \\
L 3000 { L 16942 + 013 1 17030 1 170.43 4 \\
L 4000 L 16870 + 014 T 17056 + 7070 \
42+4057 7071 \
- \
1%
Sl
I 5000 A X\% | 17000 + 013 | 17083 | 170.96 -
b|E
¥
L 6000 A 17031 T 013 T 17110 1 17123 1
| 7000 | L }78&% + 013 + 17137 + 171,49 \'b——_,———— - —_— —_— - - - - e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e
? y Fi788s 7 O ST 1 09'69Z+y W
42+70.83 7151 V
80.00 019 | 17157 | 17176 Oy Ly
Fooel g F17093 + 7 % 0000 L PWIE
80.41 1 019 1 17158 1 17177 1 \
b 17103 A
g 3
L s000 { 3 g L 17143 + 023 1 17177 1 17200 4
3
@— 0000 A L 17129 + 023 1 17196 1 17219 | Q
= \§ \\ 00°00€+Y W ‘/
+
W l43+07.83 b 17141 A F 17231 :
S | 1000 - b 17144 1+ 024 T 17209 T 17534 1 \
[ g D
L2000 { &|3 o7 [ 17159 1 021 {17222 | 17243 \\ 'I:',;z
a n
L 2355 { #|3 §_§ b o1s | 17227 | 17245 | ;gég
=y BOSY
3% L 4 \, 2989
L 3000 | L 17169 + 017 1 17231 1 172.47 |
| |._Km=4+333.58
l43+34.58 L 17165 | b 17048 1 I Rz=172,48m
L 4000 | L 17060 + 017 1 17229 1 172.47 4 |
(=)
| =
ul
~N
I 5000 A b 17152 1 043 T 17228 1 17241 1
i3
L 6000 { B[3F 17143 T 012 T 17248 1 17230 1
/ / 0G°09€+V [ ‘/
I 66,69 b od2 + 17208 1 17220 ]
I 7000 A 17135 + 012 1 17202 1 17215 1 /
km 4+376,80 [\
A ;"é’l’]”“! L 17144 + o012 | 17187 L 77198 ]
' 17197 5
ES
L 9000 { g § [ 170941 012 117169 1 7182 T ‘/
@— 0000 A L 17073 + 043 1 17152 1 17165 |
*
N
g | 1000 | L 17053 + 013 | 17136 | 17148 |
10.77 013 1 17134 1 17147
L 2000 { L 17033 + 013 1 17111 1 17124 4
T
L 3000 | P g L 17002 + 013 1 17086 1 170.99 4
S
ok
L 4000 A *gg: L 16992 T 014 T 17060 1 170.74 A
[
ﬁEE | 0Z'9bp+y W
| 4960 | | oqy L 013 {17037 | 17050 / /Jj
50,00 7 ! 013 117036 | 17049 { }F-——--"-"-"-""-"-"------ - - - —-— - - - - - - - - - - e ey ——ff———— - -
} ’ [ km 4+451,20
L 6000 A 16951 T 015 T 17042 1 170.27 1 /
| km 4+467,80 [\
L 7000 A L 169.30 T 046 T 16994 T 17009 1 |
] E
Wi | km 4+476,80 NSy
b 7701 4 25 [ 16917 1 12 {16989 f 170.00 t : Jeg2
L 8000 A 3 | 16906 T OM1 {16986 T 16997 1 lo l geS8
W 3
N km 4+485,90
L 9000 { L 16912 + 012 1 16978 1 169.90 4 ||
Q—-ﬁo%goﬂ- F 16909 + 014 1 169.74 1 169.88 | { ~E::;‘§9‘1§3;f2
145+03. L 4 L 4
f I 04,43 1 16910 1 013 | 16975 | 16988 1 ]
al 169.88 | o>
S | 1000 L 16913 + 043 1 16976 1 169.89 1 \ = km 4+511,60
09°L LG+ Wdf ‘/
i
L 2000 { L 16917 + 013 1 16979 1 169.92 1 & [\
23.99 gg I 013 | 16980 | 16993 | km 4+525,20
E | 02°GZS+7 W]
L 3000 | L 16921 + 013 1 16985 1 169.98 1 | \o
o
< l N
3 % |
L 4000 A 28 | 16925 T 043 T 16993 1 17006 |
45+48,02 17012 \ l
[ L 169.29 | 17000 |
| 4936 4 [ 16383 1 g:g 3 [ 17043 § |\ |
50.00 g 170.01 17014 ;
. VR
L 6000 A %% L 16948 T 013 T 17043 1 170.26 1
e oses 1 9 12 e \
" " " " km 4+574,10
0L'v2G+y wdf ‘/
L 8000 { . [ 16984 1 013 1 17043 1 17056 |
A
%\
L oo0oo { ¢ 3 L 17002 + 043 1 17061 1 170.74 4
3
E
99,97 ) 170.20 013 ) 170,79 170,92
i 00.00 ! 013 170.79 170.92 1 [\
[;"\ km 4+607,70
S | 1000 L 17038 + 014 1 17097 1 17111 4
b
L 2000 { g\e 17055 1 015 1 17115 1 17130 A
3
L 3000 A 17073 + 015 T 17135 1 17149 1
827 17165
\a 57, 1 o013 | 17152 | ]
:‘6:1? 1?62’7 7St 1 o § 17156 T ores 1 \ ;
' ' 17169 S
X, \ =
A
<y
D\
%\3
I 5000 A g b 17009 T 043 T 17177 1 17190 4
55.47 L 17100 + 043 1 17189 { 17202
L 6000 A b 17132 T 043 T 17201 1 17245 1
L 7000 { L 17162 + 044 1 17229 1 172,43 |
R
L 8000 { 2|8 | 17093 1+ 015 {17256 | 17271
B3 | %
214
FAEd
L 9000 { L 17224 + 014 {1 17285 1 172.99 | [\
km 4+693,40
@— 0000 - L 17254 + 013 1 17314 1 17327 4
'_,‘f 04.08 b 013 17326 | 17339
~
S | 1000 q [ 172857 015 17343 117358 1
L\,
Q3
L 2000 { L 17315 + 014 {1 17375 1 173.90 4
2336 L 043 17387 { 17401
30.00 17424
7 +30.761 E 17346 T 014 T 17400 ]
17427
L 4000 A - 17376 T 014 1 17446 T 17459 [\
§ rALY km 4+743,60
B3 || &3
I 5000 A §=E L 17407 T 013 T 17482 1 17495 1
3
L 6000 { L 17438 + 042 1 17547 1 175.30 4
147 +64.76: L ) | 17547
s 17452 1 il L 175.
6531 1 2 {17536 72700 4 T
L 7000 { L 17468 + 012 1 17553 1 17565 4
L 8000 { L 17499 + 045 1 17581 1 17596 4 \
E%\'§ \
L o000 { 2B L 17529 + 048 1 17605 1 176.24 4 \
B85 \
2 o B
=3 \ e
| 9957 | &8 || jmge 4 019 y 17628 | 17647 } \ Legd%
@ 00.00 @s 019 7117628 | 17647 1 aasa
N 3¢ g9gm
('II') \ 3753
S | 1000 | L 17570 + 019 1 17647 1 176.67 1 ||
l48+15.68 L 17575 A F 17676 1 {
L 2000 A 17579 1 017 T 17665 1 176.82 1 |
3 |
L 3000 { 22 L 17589 T 013 T 17680 1 17693 1 \
L8> Y
L 3462 §s§ L o012 + 17685 | 176.97 | ; .
~
3 \ ]
L 4000 A L 17598 T 012 T 17689 1 177.01 1 |
49,68 013 176.96 177.09 | o
" S0.00 7607 1 13 ¥ I ) DS
) } 17696 | 177.09 |\,\-
B B T - B - - - B B B B Tttt - - AT T T T T T oesseerwy '
L 6000 { L 17647 + 044 1 17703 1 17747 4 \ S
\% \ N
g\%
L 7000 { 23| 17626 1+ 044 + 17711 1 177.24 | |\
Ik |
L 8000 { ﬁ L 17636 + 014 1 17749 1 177.32 4 |
s >
8453 b 013 177.22 | 17736 ‘\
L o000 | L 17645 1 014 1 177.26 1 177.40 4 |
@— 0000 - L 17654 + 015 1 177.34 1 177.49 | | \o
IS | 2
+ 1|1 | = km 4+906,80
L lastoses %1 % 17757 ' \ |
o a & L 4 L £
E 17662 T o014 1 17743 f -
o 1000 17 = Hs.éi 17758 1 1T 0501655 Ui '\~|
55 '
- 2000 1| B8 L 17670 T 014 T 17752 1 177.66 1
555 ||
L 3000 | L 7677 + 013 ¥ 17762 {17775 5 | km 4+931.00 [\
3079 d 013 7117762 1 17775 1 |
L 4000 A L 17683 T 042 T 177.70 1 177.82 1 | e
- | <
%
2 | N
L 5000 { L 176,90 + 043 1 17776 1 177.89 | | km 4+951.80
-
HE |
5> o
L 6000 { L 17696 + 043 1 177.83 1 177.96 1 (fa
62.85 b 043 1 177.85 { 17798 =
L 7000 { L 17703 + 043 {1 177.89 1 178.02 | | [\
km 4+973,50
| 0L Y6+ W
80.00 178,08 |
Frorbo.60] L 17748 + 043 117795 ¢ y \
' 178.08 ;u |
L o000 | |\% 17716 1 o012 1 17801 1 17814 A ~ | N
A S \
X9 x
3 s '
@— 0000 - EEE L 17723 + o012 1 17807 1 17819 4 ) |
Lﬂ >
z Fed S | \
o g < | km 5+009,10
S | 1000 - 17729 + 012 T 17843 1 178.25 1 o |
N
Q. |
l 2000 1 17736 + 013 1 17818 17831 | 3 /s
2269 b 013 T 17819 { 17832 f ﬁ,“: n
|50+25.60 ~ b 177.30 A 3 - .
= 17833 | i 02'620+5 Uy
I 3000 A %gﬁ L 17726 + 013 T 17822 1 17835 A -
$BY I\ istn. przepust km 5+034,00
[50+35.02 = P 17732 3 I 17837 1 ‘\% g stan dobry nie wymaga przebudowy
- = 3
L 4000 A % .“é 17735 1 043 T 17826 1 178.39 1 \ km 5+038.30
EAS \ 0£'8E0+G W]
\
L 5000 | F17785 1 o043 {1 17829 1 178.42 | 1
11s \
L 000 {| B58 | 17762 1 014 | 17832 | 17846 | .
6058 g 015 71 17832 1 17846 T
> ‘ °
N |
km 1+301,55 N
11 | m m =
‘ + W — [
00°€0E+] W ‘/ M M m
S —— > < <
———————— ———
5 3@
o z z
= — — m
S, | | | < < >
S o0|lo0o/l0o|0lw|T 2] W = ~ x [ [ N .E -91 © © % (i|)
~ 85 8|S |23 |8 UB“-_g @ & 8 © 9. 3 3 ° o 9T Q9T £7T =S ‘7’.ZU
~ 83 ls|(a|lals|gl8 RB 8 glw s g 3 N . = = 3 3 O3 93 33 = < o> £
e8| B|8z2/25 QB8 §Pg @~ & 3 2 o o ” ” S £ 32 32 32 3§ @ >0 P
= g, & ! . e _ ; =i =i ;
22235/ 5/5/8/8 %8 S8 w s Ry o < N = s = = S53 S5S3 83 o A Q£ &
= s 3|88l |A(8 O S o & 5] c c o o o 3 o e 4 o B
o & = o ° e o =5 o o <) = L s L £ 5= I e
3 s 4|5 3 g 2 2 > ) B S £ g5 3 e S m
- § e o o = c@® o8 @8 2 —_—
RN J o N8 SE, n _ 8l ve v < & = = T s o8 af > o
= Bl |l= S @ oo B3 xa@Na NP B o 2 = o O Q < 33 m @
— RS 2 2 2l |3 -y (2 I} N S| o & = S o @ om== = N o 33 3 2.0 .
= 5|5 | M| N8 &2 3 = o o FE - - == 85X F o Q Q QO 2 35 N
5 2 EZz2z8:27 g § of3TTSNFEFRET 5988 s 5 g = 5% 53 33 S
s|C|g|IN |8 |2e |5 2 8§ O "5. T gL = Y bo} =3 = < . — < =)
o s | = N & =] o N o o o< = < o) = o w — 5
= =T = 3|8 |a I H Pe) c g P g D No< S c =.
N B |2 | B |N & < - U = o = 1
P = 55| 2 ) o Qo o < Qo7 2 o Q = = ®
o T2 lS% | wn|3|& 3 T L) S *3CNo > oo = N =3 QL x oo
=) 2 (8NS5 IX D% = s s A 30N O 3 ) Q Q ke L =5
= & o < N
S _.Waéggho U HFNEE S3NsS8 32 KIJN \ (N) ~ < 3 90o
=l 87 X o §ou® N&Hg3s 2 g3 \ s N S < 3
=. N © @ \ (S} 3 c o
S| 2 O |g| 9T a [pONTE oo \ o 53
1 n S 233 § g% 28 \_km 2+073,47 N 3 § 3“3
~|Q = 9 < @ @ =3 ca@ el vieliod .00 - 3 =1 o] Z
) & 5 Q s 9O X o 3.
S = O o © : © N~ o (0] >S5
g { 3 O~ o . O 5
3 Szlsl O S s 2 |7 9geF E °
= =T ~ o s Lo )
b4 S5 % |8 hy I = o 3 *x 2.
32z C & =<0 bR -
£ (2] N el O 3 e~ o
ol e | o ¥ [V e} Q » 2]
g3 Z s @ 9 oy
S 2|8 < = P N s - N
w
e N o o) <
[ .
% g °© 5 ® 0
WK o =] = S s
o @ o W Q)
o -
= =.
N (0]




